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Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer any ten from the following as
directed : 1x10=10

o7 e R @i webrR el B i

{a) Mention one assumption of Harrod-
Domar growth model.

P A G S " SN e
9|

(bp) Name one neo-classical growth model.

TI-cEiere Rer =¥ bR = foran |
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(2)

(0 What is meant by technological
progress?

egfFere BafS W & o ?

(d) Define average propensity to consume.

T CSI9 2ATOR He= 74 |

(e} Who introduced the life-cycle
hypothesis?

ERA-5F SO (I BoRA IR 2

() Mention one assumption of permanent
income hypothesis.

¥ S S 951 SHSYRT SCEY 47 |

(g) Rational expectation model is related to
Robert Hall/Friedman.

( Choose the correct answer )

S Ao SIECHT 3116 291/ Frecw w17
S | '
( =7 B! MR Bferear )

(h) What is investment?

fRf3cns 2

(i) What is liquidity preference?
orRen AfS &2
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(3)

() What is meant by fiscal policy?
I NS Ffereat & o 2

(k) What is Ricardian equivalence?
¥y e & 2

() What is meant by active monetary
policy?
Sy @ Afoew & 3z 2

(m) Who are the classicists?

WFIeRe (1 @4 2

(n) Did Keynes believe in full employment
equilibrium?

@%es o Rane semrers et Fffeers 2

(o) Name one new Keynesian economist.

GG 937 (RO LR w1 forn o

2. Answer any five from the following
questions : 2x5=10

G PERR R @1 +iworR e fag -

(a) What is the golden rule?
cnemat faaw 2
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( 4)

(b) What is meant by endogenous growth?
s e ferca & w2

(c) Mention two differences Dbetween
Harrod-Domar model and Solow model.

E’S-TYR W W v'R WifEq g ol
o127 BT 1 |

(d) Why marginal propensity to consume
cannot be greater than one?

afte el R AW 9IS QR FI
(R ? '

(¢) What is random walk of consumption
expenditure?

CS191 IR MRS I {F 2

() Mention two monetary policy targets.
@1 NS YO o) Ty 91 |

(g9 Mention two differences between
classical and Keynesian thoughts.

NS WF (TN SRYRNF T&E 761 N
SCEY 91 |

(h) Mention two features of classical
macroeconomic thought.

FFIrS SaEaf SRYREE Yo7 A8 ey 41 |
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(5)

3. Answer any four from the following
questions : 5x4=20

wed oA R @A vifoR See faw -

(a) What are the two effects of investment
according to Harrod-Domar model?
Explain.

R’T-vIR o SR RAceR 01 o) &
&2 =m0

(b) Explain Keynes’ psychological law of
consumption.

TR (O TGS SGCoT I 41 |

(c) Explain the elements of endogenous
growth.

G RIPR SoMFPER I F41 |

(d) What are the limitations of Harrod-
Domar model? Explain.

E@R'T-TIR wWifEd Hyrmernz & &2 wm
ol

fe) Explain the concept of inventory

investment.

o1 RIFESR Y=o [0 <47 |
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(6)

() Explain the time consistency problem of
monetary policy.

T4 NS S-S AU FI- F47 |

(g) Distinguish between external and
internal government debt.
IRWF T ASFAD FIPA AR TSI N1LF)
ey 91 1

(h) Explain the main features of new
classical macroeconomic thought.

T RS SR SRYRR YA (IPEPTR
AR 4|

4. Answer any four from the {following

questions : 10x4=40

el 2P R @ vifkeR et frw

(a) Critically discuss the Solow model of
economic growth.

AT I@I 5 HfEGT FCADAT I
HICEADAT 1 | -

(b) Discuss Fisher’s theory of optimal inter-
temporal choice.

o W FARBSINET 1T OGOl SCEATBAT
Il
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(7))

(c) Discuss the Keynesian consumption

function.
FZP (15 FAFCH1 S 41 |

(d) Critically discuss the life-cycle
hypothesis.
GRA-5F ALl STHICADAT SR SCATGAT
<91 | *

(e) 1s permanent income hypothesis an
improvement over life-cycle hypothesis?
Discuss.

TR AW A G- SEEAOE A

¥ 2 A F90

() Discuss the determinants of business
fixed investment.

o &3 RiFcer ARz ses 3341 |

(g9 What are the motives of demand for
money according to Keynes? Discuss.

@ Wo AR v wfeAmz & &2
SCEAToA 41 |

(h) Discuss the objectives of monetary
policy.

a1 N STRPTZ HCATBAT 47 |
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(8)

iy Discuss the main features of Keynesian
thought.

REPN SRYAR Y7 (IFBPHE SCEmsA 3911 |

(/) Discuss the key elements of the new
Keynesian fixed price model of macro-
economic equilibrium.

SRR SRAWeR w9 cﬁa“:{%ia &7 W
SRR T SoARTTE, A 7 |

* % %
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